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A Better Abstract


Abstract on abstracts.
An abstract should be a clear, succinct, summary of your experiment.  Measured values with their associated error should be clearly stated and compared to accepted values.  A comparison of your experimental error to the deviation from accepted values should be made and you should comment on their relative sizes.  Finally, sources of error and the how they can be reduced should be mentioned.

Summary from Spring 2008
1. Summary

2. 3.04 but no error

3. No abstract

4. 3.10e8  +/- 9.6E6  - just outside error 9.6 vs 9.73

5. 3.11 +/- 3.0%

6. 3.3 no error

7. 327,098,390  +/- 33,024,429  (accepted value 299,792,458)

8. 3.33 3% error

9. Only mentions error NO Values

10. No abstract

11. 3.11 +/- .02 3.9% deviation from accepted

12. 3.09e8 +/- 7.27e6, one of several methods

13. Table of all measurements with mean  3.26E8 +/- 8.74E6

14. No Abstract
FULL ABSTRACT
Using Foucault’s method for determining the speed of light, we found that while minimizing lash and slop as well as mathematically adjusting for the position of the rotating mirror and refraction from the protective window of the rotating mirror, we could achieve a value for the speed of light very close to the accepted value.  Of the three cases we considered

	Method 1
	No correction of A by -1.1 mm
	c=3.09x108 m/s

	Method 2
	Correction of A by -1.1 mm
	c=3.09x108 m/s

	Method 3
	Using lens equation
	c=2.98x108 m/s


Method 1 had the greatest deviation while Method 3 the least.  Method1’s deviation from the accepted value was greater than the estimated error by 0.1% while Method 2 is less by 0.4% and Method 3 only being -0.5%

The only error we couldn’t control was the random inconsistency of the motor.  Every other source was addressed and perhaps decently considering the result.
MODIFIED FULL ABSTRACT

The speed of light was measured using PASCO’s implementation of the Foucault Method.

We used three related methods to determine the speed of light from our data.  The first is the method suggested by PASCO, the second takes into account the difference in the offset of lenses L1 and L2, and the third uses the lens equation to determine A from D+B.  The table summarizes the measurements with errors and compares the measurements to the accepted value of the speed of light, exactly 299,792,458 m/s.  
	Method
	Comment
	Speed of Light
in m/s
	Experimental error
	Deviation from Accepted

	1
	No correction of A 
	3.09 ± 0.062 x 108
	2.0%
	3.1%

	2
	Correct A by -1.1 mm
	3.08 ± 0.062 x 108
	2.0%
	2.7%

	3
	Using lens equation
	2.98 ± 0.062 x 108
	2.0%
	-0.6%


Comparing experimental error to deviation from the accepted (exact) value, we see that Methods 1 and 2 are just out of our estimated experimental error, while method 3 is within our error.
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